e are thirty six qucstxons in the : C"k
¢ £ ‘_‘E.‘." 19 MG '.."i
o are compulsory.

(b) Section-A (Q. Nos. 1 to 20) all qtmsuons and

i

~of 1 mark each. These que@tnbﬁ“éﬁ e%ﬂtﬁih"ﬁ;lﬁﬁﬁl i
questions, very short answer txp; qggesmm andn assemons-

25N - reason type quesuons. Answer to these should be given in one
| SRS gtii . ONSENIRTSE YRt Y S \'H
B! word or one sentence.

L4

i (c) Section-B (Q. Nos. 21 to i& are short answer type questions

i\‘.’: ~carrying 2 marks each. B e 2ouLoT
’ ‘,,.wf-ﬁ‘

‘ (d) Section-C (Q. Nos. 27 to 33) carry 3 marks feac,he h‘m’. A
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) 'Both A and R are true but R is n
’ BB o (7] :

~ the assertion.
’i'; ! cise e
A is true but R is false. ;

A is false but R is true.
ion (A)

' on (R)
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i
= “AlY
L\ 2 b
.' R i'l i O bf‘ > \;;v ..‘. byt
.3(;1 '

Been by
gis & M5 2

N v

{~\( "
A) Thin
e and short

(B) Thick and shorts

.
»
‘oo

e ‘(C) Low melting point

(D) Higher resistance

 The heat produced by_,(pa;ssi“'ﬁ';. 8

' :‘:. &;
0 ’ 7l 't M ﬁ {i.’ 1

(A) Resistance of wire

N (B) Current »

B (© Tempemue of resistor.

il (D) Time for which current is P

B Gv) If the current flowing through a
pecome
Ll g4

produced. in it will

(A) Double
2 'U-'W
() One fourlius
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:c 'mdxcator Whiéhi D '.-’t"»‘ s

LT e

Methyl orange 5
Turmeric poa,_&eti“

VM (.5
Phenolphthalein -

Litmus paber

ne of the following is 1 eg&
i

i#

(A) Ethanoic acid ‘\,
Al
(B) Formic acid
"0"' "i -
X 4

¢

C) Citric .acid;z_'.f Pl







midbrain .

forebrain

i

) contams energy and this energy can Ee
1’.""_&1 ‘0’

\

.:.«:; m B fOOd Cham, thC lmt\al Orgamsm 13' 1
T' f(:'[(A) Photosynthetic = B) F
i w‘u-’ra_

(C) Saprophytic *

n, the third trophlﬁ@ vel is alwa

| ;In a food chai
‘. (A) Carnivores

.'?.t.(C)* Herbivores j




/ C 12Z5)

g is not a consumer this one 1§ -
(B) Antelope

(D) Alligator x

g of a snake, grass, insect a

| (iv) One of the followin
(A) Giraffe »
(C) Algae

(v) In the food chain comprisin

nd frog,

the secondary consumer is !

(A) Insect | (B) Snake

(C) Frog (D) Grass
Section-B

)4 e . A . - : pc :
1. There are two types of light sensitive cells In the human ¢y

(i) Where are they found ?
(i) What is each type called ?
Or
)&éke the diagram to explain refraction and dispersion.

22. What is atmospheric refraction ? Give its cause.

3. Two resistors with resistances 20} and 4Q respectively are to be
connected to a battery of em.f. 6V so as to obtain maximum

current flowing. Find the current in that case.
Or

Find the energy transferred by a 100 W electric bulb in 1 minute.

AJKUT23—9305-2
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) 1S a balan :
ced che
ﬂuatlons be balanced 9 tme?l

(v U

~ reaction.

Vi€ o
29
2"
v At
S

i
- P
A-.

/' What is the difference between a mmeral and an* ore Name
- ore of sodium. Write the chemlcal formula of odmm m
7w

-.,a'at':l ‘ i) .‘ g ;‘I" AL
eil! ; 1";‘ ;-'. :

‘EXplam Vegetative propagation W? the help of two*et

two advantages of 1t






".

\s ive the l'll()le(;ular Tomn
:-.: ]lo\vlng

,) C3H,
(i) C,H,
(iii) CzH

Ui
Al
e
. f

? ) Explain the term ‘isomers’.
f Write the following :

r (i) Structural formula S
(ii) Electron dot structure of any one, .
| How many isomers of the followmg hy

() Gy

i':;'a (i) C4Hio _
B
(".) C5H|2 :’7 . g =

(iv’)‘ CeH 4 ' e

),







